
 

052522-105 1 August, 2008 

INSTALLATION 

APEX BULLET ENDCAPS
 

RV Kits 
The Apex Bullet Endcaps are designed to provide an aerodynamic contour to the 

ends of the Apex box awning.

 

COMPONENT CHECK LIST 
 COMPONENT QTY

1 Endcap, LH  
2 Endcap, RH  
3 Screw, Phillips Truss Head #10 x 1 4 

1 3 4
2

RTA050 

4 Screw, PPH, Self Drilling #10 x 1 1/4 2 

 

1. Inspect the endcaps.  The mounting hole 
locations are marked with a dimple.  Drill out the 
dimple using a 7/32" drill bit. 

2. Position the endcap on the end of the awning.  
Align the mounting holes with the threaded holes 
in the endplate and attach using two (2) each #10 
x 1 phillips truss head screws. 

3. Attach the endcap to the coach roof using one (1) 
#10 x 1 1/4 self-drilling screw. 

 

#10 x 1 Screw
(2 per endcap)

#10 x 1 1/4”
Self Drilling Screw

RTA052

Bullet End Cap
End Plate

Drill Out Mounting
Holes in End Cap

to 7/32” (3 plcs)

 
 


	Component Check List

